F.B.G. PRODUCT DATA SHEET

VENDOR INFORMATION:

HARDWARE

LOCATION . NAME . NEEDED? DES. 1D SPINDLE COUNT
DOMESTIC __ = Y X ISSUE
DESC. BED (HEADBOARD) IMPORT __ X NUMBER = N—__ DATE .
FINISH(S): MATTE BLACK # DESCRIPTION
FINISH PROCESS: ONE STEP POWDER — |HARDWARE BAG #352301 BED (BLACK)
FINISH(S): VANILLA — |(4) 1/4-20 2 COUNTERSUNK ALLEN HEAD SCREW
FINISH PROCESS: ONE STEP POWDER ALUMINUM — |(4) 1/4-20 1 FLAT ALLEN HEAD SCREW
(258” TUBE CASTING — [(8) 5/8” oD METAL WASHER
19 GA. — |(4) 1/4=20 HEX NUT
] Q — |ALLEN WRENCH
— %::U%- ) — — |-
i }\‘”\ — |HARDWARE BAG #352302 HEADBOARD (BLACK)
/ @b TUBE — [(4) 1/4-20 2 COUNTERSUNK ALLEN HEAD SCREW
18 GA. — [(4) 5/8" 0D METAL WASHER
. — [(4) 1/4-20 HEX NUT
31%” @3 [TUBE __||__ _ 9%” L —
19 GA. TYP. 87%” 88513” — A—LLEN WRENCH
2eg” ——
1x
g | — |PLASTIC GLIDE #150940000
, J } — |FINIAL #352303
Qj%lg TGUABE 8‘” — |LEG EXT. #362304
8265 THRU , — |~
20" |, t L ' N
° Tl Sk
3 jll 7%,, 5// 3 _ _
4%_ ISU DATE REVISION
524 - Cc/C - 4/6
| 59%// - C/C - 5/0 | 11-5-06 ADD CARTON DIMENSIONS
758 - c/C - 6/6 c 06—21-07 |ADD NEW FINISH
USE THIS AS REFERENCE ONLY _ _ _
HEIGHT WIDTH DEPTH WEIGHT (LBS.) # OF CTNS CARTON DIM’S CU FT. U.P.S
SIZE | FTBD | HDBD | FTBD | HDBD |D—BED [gr2SKED{NPACKED [pep |1 BED HEADBOARD BED |HDBD|Y | N
3/3 - - - - - - - - - - - - - - - - | -
4/6 |31 3/8|52 1/81|54 1/2|54 1/2|- eg8 18 | - |- |1 587 X 35 X 4¢ 57 3/4* X 35 1/4* X 3* 470 |353 |- | X
5/0 |31 3/8|52 1/81|61 1/2 |61 1/2 |- 30 (19| - |- 1 65 X 35" X 4* 64 1/2 X 35 1/4" X 3" |526 [3.94 |- | X
6/6 |[31 3/8|52 1/8|77 1/2|77 1/2|- 33 (23| - - 1 817 X 35 X 4 80 1/2* X 35" X 3 656 |489 | - | X




F.B.G. PRODUCT DATA SHEET \L/ggg%gNWFORMAT'ON HéEB\é@sE DES. 1D SPINDLE COUNT
DOMESTIC _— NAME ID Y X ISSUE

DESC. BED <FOOTBOARDY IMPORT __ X NUMBER = N—_ DATE

FINISH(S): MATTE BLACK # DESCRIPTION

FINISH PROCESS: ONE STEP POWDER

FINISH(S): VANILLA
FINISH PROCESS: ONE STEP POWDER

HARDWARE BAG #352301 BED (BLACK)

(4) 1/4-20 2 COUNTERSUNK ALLEN HEAD SCREW

(4) 1/4-20 1 FLAT ALLEN HEAD SCREW

(8) 5/8” OD METAL WASHER

(4) 1/4-20 HEX NUT

ALLEN WRENCH

HARDWARE BAG #352302 HEADBOARD (BLACK)

5//
Qj@l TUBE — |(4) 1/4-20 2 COUNTERSUNK ALLEN HEAD SCREW
g lﬁ 2 GA. g — [(4) 5/8” OD METAL WASHER
— 3 ] {7 ? {7 ] { - — |(4) 1/4-20 HEX NUT
— |ALLEN WRENCH
313 g3 [TUBE 9 — |PLASTIC GLIDE #150940000
—— — ®1z” TUBE 1s
19| GA. TYP, - fg GA. c8g — |FINIAL #352303
— |LEG EXT. #362304
— 4 4—1/4-20 AVK -
1 | 5 J } INSERT
3" @3 TUBE g I
J 5 1 19 GAI ‘ g _ —
1 — | =
528 — C/C - 4/6 —
1//
595" - C/C - 5/0 ISU | DATE REVISION
75% - C/C - 6/6
B 11-5-06 | ADD CARTON DIMENSIONS
C 06—21—07 | ADD NEW FINISH
USE THIS AS REFERENCE ONLY _ _ _
HEIGHT WIDTH DEPTH WEIGHT (LBS.) # OF CINS CARTON DIM’S CU FT. U.P.S.
SIZE | FTBD | HDBD | FTBD | HDBD |D—BED (st RED{UNPACKED fppp | g BED HEADBOARD BED |HDBD|Y | N
3/3 |- - - - - - - - - - - B B - - - | -
4/6 |31 3/8|52 1/81(54 1/2|54 1/2|- 28 |18 | — |- 1 1 |58” X 35“ X 4 57 3/4” X 35 1/4" X 3* (4,70 |353 |- | X
5/0 |31 3/8(52 1/8|61 1/2 |61 1/2 |- 30 (19 | - - 1 1 |65” X 35" X 4 64 1/2 X 35 1/4” X 3" |526 [394 | - | X
6/6 |31 3/8|52 1/8|77 /2|77 1/2|- 3231|123 | - |- 1 1 |81” X 35" X 4~ 80 1/2” X 35" X 3" 656 |489 | - | X




VENDOR INFORMATION: HARDWARE
F.B.G. PRODUCT DATA SHEET  OCATION NEEDLD? oES. 1D SPINDLE COUNT
DOMESTIC __— NAME 1D Y X ISSUE
DESC. TWIN BED ¢(HB> |MPORT __ X NUMBER = N—=—_ DATE
FINISH(S): MATTE BLACK # DESCRIPTION
FINISH PROCESS: ONE STEP POWDER — | HARDWARE BAG #352301 BED (BLACK)
FINISH(S): VANILLA - — |(4) 1/4-20 2 COUNTERSUNK ALLEN HEAD SCREW
FINISH PROCESS: ONE STEP POWDER %19 TGUABE ALUMINUW Z [(#) 1/4-20 1 FLAT ALLEN HEAD SCREW
' CASTING — |(8) 5/8” 0D METAL WASHER
— [(4) 1/4-20 HEX NUT
— |ALLEN WRENCH
— |HARDWARE BAG #352302 HEADBOARD (BLACK)
— |(4) 1/4-20 2 COUNTERSUNK ALLEN HEAD SCREW
18 GA. — [(4) 5/8” oD METAL WASHER
873// ) — |(4) 1/4-20 HEX NUT
. 83 __ o3k 244" — |ALLEN WRENCH
TYP : u
. 37
g3’ |TUBE - 8 s
485" 19| GA. — |-
J % — |PLASTIC GLIDE #150940000
37 4” — |FINIAL #352303
(25?-9 TGUABEJ t — |LEG EXT. #362404
?.265 THRU ° — |-
) . 84// HDLESX°__¢1%” TUBE — —
20 37 o 19 GA. .
163 | . —1=
18%” 9” *1// J e
72 5// - -
[ ——
1 t ISU DATE REVISION
373" — C/C = 3/3
a B 11-5—06 | ADD CARTON INFORMATION
C 06-21—07 |ADD NEW FINISH
USE THIS AS REFERENCE ONLY ~ ~ _
HEIGHT WIDTH DEPTH | WEIGHT (LBS.) |# OF CINS CARTON DIM'S CU FT. JU.P.S.
SIZE | FTBD | HDBD | FTBD | HDBD |D—BED (st RED{UNPACKED fppp | g BED HEADBOARD BED |HDBD| Y
3/3 (31 3/8(48 1/8|39 1/2|39 1/2|- p3 14 | - |- |1 43" X 31 1/2" X 4” 42 1/2" X 31 1/2" X 3" |314 |23l | X
4/6 |- ~ ~ ~ - - |- 1=-1-1-1- |- - - -
5/0 |- - - - - - 1=1=1=1T= 1= 1 _ _ _
6/6 |- - — — - - 1=1=1=-1-1- 1 _ _ _




F.B.G. PRODUCT DATA SHEET VENDOR INFORMATION: HARDWARE
LOCATION NEEDED? ~ DES. 1D SPINDLE COUNT
DOMESTIC __— NAME 1D Y X ISSUE
DESC. TWIN BED FT>  |MPORT _X NUMBER = N—_ DATE
FINISH(S): MATTE BLACK # DESCRIPTION
FINISH PROCESS: ONE STEP POWDER — | HARDWARE BAG #352301 BED (BLACK)
FINISH(S): VANILLA — |(4) 1/4-20 2 COUNTERSUNK ALLEN HEAD SCREW
FINISH PROCESS: ONE STEP POWDER — [(4) 1/4=20 1 FLAT ALLEN HEAD SCREW
— |(8) 5/8" OD METAL WASHER
— [(4) 1/4-20 HEX NUT
— |ALLEN WRENCH
< — |HARDWARE BAG #352302 HEADBOARD (BLACK)
?g” TUBE — |(4) 1/4-20 2 COUNTERSUNK ALLEN HEAD SCREW
g lﬁ 19 GA, g — |(4) 5/8” OD METAL WASHER
— ! 1 (] (] — — [(4) 1/4-20 HEX NUT
— |ALLEN WRENCH
1x I
318" Qﬁ?g TGUA]%E—’: 83" __ _|.l_214 TUBE SgLs — |PLASTIC GLIDE #150940000
TYP 19 GA. 8 — |FINIAL #352303
° ° — |LEG EXT. #352404
16%// 1 ° J °"_]_/4'_80 A\/K — |-
3 INSERT
ted’ g L B3 TUBEJ g,, — |-
l 5 1 19 GAI J T _ —
f _ =
375 - cs/Cc - 3/3 e
ISU DATE REVISION
B 11-5-06 | ADD CARTON INFORMATION
c 06—21—07 | ADD NEW FINISH
USE THIS AS REFERENCE ONLY — 1 3
HEIGHT WIDTH DEPTH WEIGHT (LBS.) # OF CINS CARTON DIM’S CU FT. |U.P.S.
PACKED | UNPACKED
SIZE FTBD HDBD FTBD HDBD |D—BED[ggp 1HB BED |- |BED |HB BED HEADBOARD BED |HDBD|Y | N
3/3 |31 3/8|48 1/8|39 1/2|39 1/2|- 23|14 | - |- 1 1 |43" X 31 l/2” X 4° 42 1727 X 31 172" X 3" 314 |231 | X | -
4/6 |- - - - - - - - |- - |- - - - - -1 -
5/0 |- - - - - - - - |- - |- - - - - - | -

6/6




VENDOR INFORMATION: HARDWARE
F.B.G. PRODUCT DATA SHEET VENDOR HARDWARE o 1n CPNOLE COUNT
DOMESTIC __— NAME 1D Y X ISSUE
DESC. TWIN HEADBOARD [MPORT __ X NUMBER = N—_ DATE
FINISH(S): MATTE BLACK # DESCRIPTION
FINISH PROCESS: ONE STEP POWDER — | HARDWARE BAG #352301 BED (BLACK)
IE:'I:IIEE(SF?F.QO\/CAENSEFAONE STEP POWDER 53 TUBE — |(4) 1/4-20 2 COUNTERSUNK ALLEN HEAD SCREW
: ?9 A ALUMINUM — |(4) 1/4-20 1 FLAT ALLEN HEAD SCREW
' CASTING — |(8) 5/8” 0D METAL WASHER
— [(4) 1/4-20 HEX NUT
— |ALLEN WRENCH
— |HARDWARE BAG #352302 HEADBOARD (BLACK)
— |(4) 1/4-20 2 COUNTERSUNK ALLEN HEAD SCREW
18 GA. — [(4) 5/8” oD METAL WASHER
573 ” — [(4) 1/4-20 HEX NUT
. 83 __ o3k 244" — |ALLEN WRENCH
TYP 8 u
. 37
g3’ |TUBE - 8 s
485" 19| GA. — |-
| } — |PLASTIC GLIDE #150940000
3u 47 — |FINIAL #352303
Qj‘—b TGUABEJ T — |LEG EXT. #362304
?.265 THRU — |-
) 84” HDLESX <_(zj]_%// TUBE |
0 > 19 GA, e
T S
A 1
[ —=
1 t ISU DATE REVISION
374 - C/C - 3/3
2 B 11-5—06 | ADD CARTON INFORMATION
C 06—21—07 | ADD NEW FINISH
USE THIS AS REFERENCE ONLY _ _ _
HEIGHT WIDTH DEPTH WEIGHT (LBS.) # OF CINS CARTON DIM’S CU FT. U.P.S.
SIZE | FTBD | HDBD | FTBD | HDBD |D—BED (st RED{UNPACKED fppp | g BED HEADBOARD BED |HDBD| Y
3/3 |31 3/8|48 1/8|39 1/2|39 1/2|- 23 (14 | - - 1 43" X 31 1/2" X 47 42 172" X 31 172" X 3" 314 |231 | X
4/6 |- - - - - - = 1=-1-1-1T- 1- _ - _
5/0 |- - - _ - - 1= 1=-1=1T= 1= |- R B
6/6 |- — ~ - - - = T=1=-1T=-1- 1] N DR




	Sanford Headboard
	Sanford Footboard
	Sanford Twin Bed Headboard
	Sanford Twin Bed Footboard
	Sanford Twin Headboard



